
There are 18 baubles
hanging on the tree. How

many more do you to
make them 20?

There are 7 elves making
toys in the workshop. 5

more elves join them. How
many elves are there in

total?

There were 20 baubles in
a box. 16 got smashed.  

 
How many are left?

Santa has 9 reindeers to
pull his sleigh. Each reindeer

has 2 bells around their
neck. How many bells do the
reindeers have altogether?

Santa had 18 carrots for
his reindeers. His reindeers

ate half of them.  
How many carrots are left?

Christmas lights costs £5
per box. Santa needs 10

boxes for his grotto.  
How much does he pay?

Jane bought 17 gifts for her
family. She wrapped 10 gifts.

 
How many more does she

need to wrap?

Santa needed to leave 10
presents under the Christmas
tree. He has only 8 presents

left in his sack. How many more
does he need?
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